Two-step word problem

Jim bought 3 packets of pencils for $3 per packet. He also bought 5 packets of crayons for
$4 each. How much Jim spend in all?

+* Answer:

Step 1. alep 2.
Cost of pencils  + Cost of crayons = Total amount
Cost of pencils: spent

Cost of crayons:

Jimspent _____ in all.

Miranda got 15 red roses and 15 yellow roses. She wants to make bunches with equal amount
of roses. How many bunches can she make?

+* Answer:

Step 1: Step 2:
Mirandacan make ___ bunches.

Sally bought 3 bracelets for $6 each. Mia bought 12 markers for $1 each. How much more
money Sally spent than Mia?

+* Answer:

Step 1: Step 2:
Sally spent _____ more than Mia.
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